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1. Who says - Ideas are of two types, simple

and complex?

(A) Locke

(B) Spinoza

(C) Hume

(D) None of the above

2. 'The law of sufficient reason' is associated

with which of the following?

(A) Plato

(B) Locke

(C) Berkeley

(D) Leibnitz

3. Who claims substance as 'one and infinite'?

(A) Descartes

(B) Leibnitz

(C) Spinoza

(D) Hegel

4. According to Kant, which of the following

judgements are always 'aposteriori'?

(A) Analytic

(B) Ethical

(C) Synthetic

(D) None of the above

5. Psycho-physical parallelism is a theory of :

(A) Descartes

(B) Leibnitz

(C) Spinoza

(D) None of the above

1. izR;; nks izdkj ds gksrs gSa & ljy ,oa fefJr]
;g fdldk dFku gS\

(A) ykWd

(B) fLiukstk

(C) º;we

(D) mijksDr esa ls dksbZ ugha

2. ^i;kZIr cqf) dk fu;e* fdl nk'kZfud ls
lEcfU/kr gS\

(A) IysVks

(B) ykWd

(C) cdZys

(D) ykbfCuRt

3. fdlds vuqlkj nzO; ^,d ,oa vlhfer* gS\

(A) nsdkrZ

(B) ykbfCuRt

(C) fLiukstk

(D) ghxy

4. dk.V ds vuqlkj fuEu esa ls dkSu ls fu.kZ;
lnSo vuqHko lkis{k gksrs gSa\

(A) fo'ys"k.kkRed

(B) uSfrd

(C) la'ys"k.kkRed

(D) mijksDr esa ls dksbZ ugha

5. euks&HkkSfrd lekukUrjokn fdldk fl)kUr gS\

(A) nsdkrZ

(B) ykbfCuRt

(C) fLiukst+k

(D) mijksDr esa ls dksbZ ugha
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6. Which one of the following is the stand point
of Locke regarding primary and secondary
qualities?
(A) Primary qualities are created by God
(B) Secondary qualities are

represented in experiences
(C) Primary and secondary qualities are

distinct from logical point of view
(D) Primary qualities are objective

while secondary  qualities are
subjective

7. What is the distinctive feature of innate ideas?

(A) Universality

(B) Necessity

(C) Indubitability

(D) Certainty

8. What is the aim of Berkeley's philosophy?

(A) Refutation of Materialism

(B) Establishment of Idealism

(C) Refutation of Material ism and

establishment of Idealism

(D) Proving the existence of God

9. According to Berkeley, sensation arises

due to :

(A) God

(B) Reason

(C) Self

(D) Mind

10. Hume refutes the independent existence of

which of the following?

(A) Matter

(B) Self

(C) God

(D) All of the above

6. ykWd dk izkFkfed ,oa xkS.k xq.kksa ds ckjs esa
D;k er gS\

(A) izkFkfed xq.k bZ'oj jfpr gSa

(B) xkS.k xq.kksa dh izrhfr vuqHko }kjk
gksrh gS

(C) rkfdZd n`f"Vdks.k ls izkFkfed ,oa
xkS.k xq.k fHkUu gSa

(D) izkFkfed xq.k oLrqfu"B gS] xkS.k xq.k
vkRefu"B gSa

7. lgt izR;; dh D;k fo'ks"krk gS\

(A) lkoZHkkSfedrk

(B) vfuok;Zrk

(C) vlafnX/krk

(D) fu'p;kRedrk

8. cdZys ds n'kZu dk D;k mís'; gS\

(A) HkkSfrdokn dk [k.Mu

(B) foKkuokn dh LFkkiuk

(C) HkkSfrdokn dk [k.Mu ,oa foKkuokn
dh LFkkiuk

(D) bZ'oj ds vfLrRo dks izekf.kr djuk

9. cdZys ds vuqlkj bfUnz; laosnu dks mRiUu
djus okyk fuEu esa ls D;k gS\

(A) bZ'oj

(B) cqf)

(C) vkRek

(D) eu

10. fuEu esa ls fdlds LorU= vfLrRo dk [k.Mu
áwe }kjk fd;k x;k gS\

(A) HkkSfrd nzO;

(B) vkRe nzO;

(C) bZ'oj

(D) mijksDr lHkh
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11. Which of the following is associated with

Hume?

(A) Rationalism

(B) Idealism

(C) Scepticism

(D) None of the above

12. Which of the following is not a type of

substance according to Locke?

(A) Matter

(B) Self

(C) God

(D) Planet

13. The philosophy of Advaita of Shankar is

compared with the philosophy of which of

the following?

(A) Kant

(B) Hume

(C) Spinoza

(D) Descartes

14. Which of the following is associated with

Immanual Kant?

(A) Rationalism

(B) Criticism

(C) Empiricism

(D) None of the above

15. Who admits innumerable spiritual atoms?

(A) Hegel

(B) Kant

(C) Leibnitz

(D) All of the above

11. fuEu esa ls dkSu º;we ls lEcfU/kr fl)kUr gS\

(A) cqf)okn

(B) foKkuokn

(C) lansgokn

(D) mijksDr esa ls dksbZ ugha

12. fuEu esa ls dkSu lk ykWd ds vuqlkj nzO;ksa dk
izdkj ugha gS\

(A) HkkSfrd rRo

(B) vkRek

(C) bZ'oj

(D) xzg

13. 'kadj ds v}Sr n'kZu dh rqyuk fuEu esa ls
fdlds nk'kZfud fl)kUr ls dh tkrh gS\

(A) dk.V

(B) º;we

(C) fLiukst+k

(D) nsdkrZ

14. fuEu esa ls dkSu lk fodYi dk.V ls lEcfUèkr
gS\

(A) cqf)okn

(B) vkykspukokn

(C) vuqHkookn

(D) mijksDr esas ls dksbZ ugha

15. fdlds vuqlkj vk/;kfRed xq.k vla[; gksrs gSa\

(A) ghxy

(B) dk.V

(C) ykbfCuRt

(D) mijksDr lHkh
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16. According to Kant, the judgements of

Philosophy come under which category?

(A) Synthetic

(B) Apriori

(C) Both (A) and (B)

(D) None of the above

17. Which of the following problems are

discussed in Kant's critical theory?

(A) Sources of knowledge

(B) Objects of knowledge

(C) Limits of knowledge

(D) All of the above

18. Kant's criticism comes under which of the

following?

(A) Epistemology

(B) Metaphysics

(C) Ethics

(D) Axiology

19. The philosophical method of Descartes is

known as :

(A) Scepticism

(B) Cogito method

(C) Mysticism

(D) None of the above

20. The climax of empiricism is found in the

philosophy of which thinker?

(A) Hume

(B) Locke

(C) Berkeley

(D) Aristotle

16. dk.V ds vuqlkj n'kZu'kkL= ds fu.kZ;
fuEufyf[kr esa ls fdl oxZ esa vkrs gSa\

(A) la'ys"k.kkRed

(B) vuqHkofujis{k

(C) nksuksa (A) vkSj (B)

(D) mijksDr esa ls dksbZ ugha

17. dk.V ds leh{kkokn esa fuEu esa ls fdldk
foospu gS\

(A) Kku ds lzksr

(B) Kku ds fo"k;

(C) Kku dh lhek

(D) mijksDr lHkh

18. dk.V dk leh{kkokn fuEufyf[kr esa ls fdl
oxZ esa vkrk gS\

(A) Kku ehekalk

(B) rÙoehekalk

(C) uhfr'kkL=

(D) ewY;'kkL=

19. nsdkrZ dh nk'kZfud fof/k dks fdl izdkj ls
tkuk tkrk gS\

(A) la'k;okn

(B) lansg fof/k

(C) jgL;okn

(D) mijksDr esa ls dksbZ ugha

20. vuqHkookn dh pje ifj.kfr fdlds n'kZu esa
ik;h tkrh gS\

(A) g~;we

(B) ykWd

(C) cdZys

(D) vjLrw
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21. Who said, "there is no form without matter

and no matter without form"?

(A) Leucippus

(B) Plato

(C) Socrates

(D) Aristotle

22. Who among the following discovered four

causes that govern change in everything?

(A) Plato

(B) Aristotle

(C) St. Augustine

(D) St. Anselm

23. According to which of the following,

'knowledge is virtue and ignorance is vice'?

(A) Thales

(B) Plato

(C) Socrates

(D) Pythagoras

24. Who was the mentor of Aristotle?

(A) Plato

(B) Socrates

(C) Academy

(D) Lyceum

25. The theory of forms or ideas is the

philosophy of :

(A) Aristotle

(B) Plato

(C) Thales

(D) Pythagoras

21. ^^fcuk vkdkj ds inkFkZ lEHko ugha gS vkSj
fcuk inkFkZ ds vkdkj lEHko ugha gS** & ;g
fdldk dFku gS\

(A) Y;wflIil

(B) IysVks

(C) lqdjkr

(D) vjLrw

22. fuEu esa ls fdlds vuqlkj fdlh Hkh ifjorZu
esa pkj dkj.k izeq[k dkjd ds :i esa dk;Z
djrs gSa\

(A) IysVks

(B) vjLrw

(C) lUr vkxLVhu

(D) lUr vUlYe

23. fuEu esa ls fdlds vuqlkj ̂ Kku ,d ln~xq.k
gS vkSj vKku vfHk'kki*\

(A) Fksyhl

(B) IysVks

(C) lqdjkr

(D) ikbFkkxksjl

24. vjLrw fdldk f'k"; Fkk\

(A) IysVks

(B) lqdjkr

(C) ,dsMseh

(D) ykbfl;e

25. izR;; ;k vkdkj dk fl)kUr fuEu esa ls
fdlds n'kZu ls lEcfU/kr gS\
(A) vjLrw
(B) IysVks
(C) Fksyht
(D) ikbFkkxksjl
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26. What are the types of ideas acceptable to

Descartes?

(A) Adventitious

(B) Fictitious

(C) Innate

(D) All of the above

27. According to Locke, complex ideas are

created by which of the following?

(A) Sensation

(B) Reflection

(C) Sense organs

(D) None of the above

28. According to Hume, God is not the object

of which of the following ?

(A) Sense experience

(B) Reason

(C) Both (A) and (B)

(D) None of the above

29. In Kant's philosophy, the self is considered

as :

(A) Knower

(B) Knowledge

(C) Knowable

(D) None of the above

30. The famous statement-"An unexamined life

is not worth living" is attributed to which of

the following?

(A) Aristotle

(B) Locke

(C) Socrates

(D) Plato

26. nsdkrZ dks izR;;ksa ds dkSu ls izdkj Lohdk;Z Fks\

(A) bfUnz;izlwr

(B) dkYifud

(C) tUetkr

(D) mijksDr lHkh

27. ykWd ds vuqlkj fefJr izR;;ksa dh izkfIr
fdlds }kjk gksrh gS\

(A) laosnuk ls

(B) vkRefpUru ls

(C) bfUnz;ksa ls

(D) mijksDr esa ls dksbZ ugha

28. º;we ds vuqlkj] bZ'oj fuEufyf[kr esa ls
fdldk fo"k; ugha gS\

(A) vuqHko

(B) cqf)

(C) nksuksa (A) vkSj (B)

(D) mijksDr esa ls dksbZ ugha

29. dk.V ds n'kZu esa vkRek fuEufyf[kr esa ls
fdl oxZ esa vkrh gS\

(A) Kkrk

(B) Kku

(C) Ks;

(D) mijksDr esa ls dksbZ ugha

30. ^^vijhf{kr thou thus;ksX; ugha gS** &;g
izfl) dFku fdl nk'kZfud dk gS\

(A) vjLrw

(B) ykWd

(C) lqdjkr

(D) IysVks
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31. Who among the following severely criticised

Plato's theory of ideas?

(A) Pythagoras

(B) Aristotle

(C) Socrates

(D) All of the above

32. Both Plato and Aristotle accept which of the

following?

(A) Idealism

(B) Realism

(C) Materialism

(D) Rationalism

33. According to Descartes, which of the

following is the essential feature of matter?

(A) Extention

(B) Thought

(C) Both (A) and (B)

(D) None of the above

34 Which of the following is associated with

Leibnitz?

(A) Monist

(B) Dualist

(C) Pluralist

(D) Pantheist

35. Which of the following is the essential

attribute of self, according to Descartes?

(A) Extention

(B) Thought

(C) Motion

(D) Doubt

31. fuEu esa ls fdl nk'kZfud us IysVks ds izR;;
fl)kUr dh ?kksj vkykspuk dh\

(A) ikbFkkxksjl

(B) vjLrw

(C) lqdjkr

(D) mijksDr lHkh

32. IysVks ,oa vjLrw nksuksa us fuEu esa ls fdls
Lohdkj fd;k gS\

(A) foKkuokn

(B) ;FkkFkZokn

(C) HkkSfrdokn

(D) cqf)okn

33. nsdkrZ ds vuqlkj tM+rRo dk eq[; y{k.k
fuEu esa ls D;k gS\

(A) foLrkj

(B) fopkj

(C) nksuksa (A) vkSj (B)

(D) mijksDr esa ls dksbZ ugha

34. fuEu esa ls dkSu&lk fl)kUr ykbfCuRt dk
gS\

(A) ,dokn

(B) }Srokn

(C) cgqrÙookn

(D) losZ'ojokn

35. nsdkrZ ds vuqlkj fuEu esa ls D;k vkRek dk
vko';d xq.k gS\

(A) foLrkj

(B) fopkj

(C) xfr

(D) lansg

[P.T.O.]
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36. According to Hume, the laws of science are

based on which of the following?

(A) Relations of ideas

(B) Matters of fact

(C) Both (A) and (B)

(D) None of the above

37. Which of the following arguments was

refuted by Hume for the existence of God ?

(A) Teleological Argument

(B) Cosmological Argument

(C) Moral Argument

(D) All of the above

38. According to Kant, which of the following

theories are dogmatic?

(A) Empiricism

(B) Rationalism

(C) Both (A) and (B)

(D) None of the above

39. "Precepts without concepts are empty,

concepts without precepts are blind" – this

is the statement of which of the following?

(A) John Locke

(B) Bishop Berkeley

(C) Immanual Kant

(D) Descartes

40. According to Kant, the knowledge of

causation is due to which of the following?

(A) Sensation

(B) Intuition

(C) Reason

(D) None of the above

36. º;we ds vuqlkj foKku ds fu;e fuEufyf[kr
esa ls fdl ij vk/kkfjr gSa\

(A) izR;;ksa ls lEcU/k

(B) rF; lacU/kh fo"k;

(C) nksuksa (A) vkSj (B)

(D) mijksDr esa ls dksbZ ugha

37. º;we us bZ'oj lEcU/kh fuEu fdu izek.kksa dk
[k.Mu fd;k gS\

(A) iz;kstuewyd rdZ

(B) fo'odkj.krkewyd rdZ

(C) uSfrd rdZ

(D) mijksDr lHkh

38. dk.V ds vuqlkj fuEu esa ls dkSu ls lEiznk;
:f<+oknh Fks\

(A) vuqHkookn

(B) cqf)okn

(C) nksuksa (A) vkSj (B)

(D) mijksDr esa ls dksbZ ugha

39. ^^izR;{khdj.k ds fcuk izR;;hdj.k fjDr gS]
izR;;hdj.k ds fcuk izR;{khdj.k va/kk gS**&;g
dFku fuEu esa ls fdldk gS\

(A) tkWu ykWd

(B) fc'ki cdZys

(C) beSuq,y dk.V

(D) nsdkrZ

40. dk.V ds vuqlkj dk;Zdkj.k dk Kku
fuEufyf[kr esa ls fdlds }kjk gksrk gS\

(A) laosnuk

(B) izKk

(C) cqf)

(D) mijksDr esa ls dksbZ ugha
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41. How many categories of understanding has

been accepted by Kant?

(A) 12

(B) 10

(C) 08

(D) 04

42. Plato was a disciple of which among the

following?

(A) Aristotle

(B) Cicero

(C) Socrates

(D) Polybius

43. Which of the following is Plato's famous

work?

(A) The Lyceum

(B) The Prince

(C) The Republic

(D) None of the above

44. Which of the following is a fundamental idea

of Plato?

(A) Theory of Education

(B) The Ideal Man

(C) Theory of Justice

(D) All of the above

45. Who said, theory of truth lies in the theory of

ideas?

(A) Aristotle

(B) Pythagoras

(C) Plato

(D) Socrates

41. dk.V us fdruh ckSf)d dksfV;k¡ Lohdkj dh
gSa\

(A) 12

(B) 10

(C) 08

(D) 04

42. IysVks fuEu esa ls fdldk f'k"; Fkk\

(A) vjLrw

(B) flljks

(C) lqdjkr

(D) iksfyfc;l

43. fuEu ls dkSu lk IysVks dk izfl) xzUFk gS\

(A) n ykbfl;e

(B) n fizal

(C) n fjifCyd

(D) mijksDr esa ls dksbZ ugha

44. fuEu esa ls dkSu IysVks dk ewyHkwr fopkj gS\

(A) f'k{kk dk fl)kUr

(B) vkn'kZ euq";

(C) U;k; fl)kUr

(D) mijksDr lHkh

45. fdlds vuqlkj lR;rk dk fl)kUr izR;;ksa
ds fl)kUr ij vk/kkfjr gS\

(A) vjLrw

(B) ikbFkkxksjl

(C) IysVks

(D) lqdjkr

[P.T.O.]
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46. Who thinks that substance is to be defined

by active force?

(A) Berkeley

(B) Leibnitz

(C) Hume

(D) None of the above

47. Descartes' assertion that - I have an idea of

a most perfect being is a premise of which

argument?

(A) Cosmological argument

(B) Ontological argument

(C) Argument from design

(D) Moral argument

48. Which of the following method was adopted

by Kant?

(A) Inductive

(B) Deductive

(C) Empirical

(D) Transcendental

49. Which of the following model was adopted

by Descartes for his philosophical method?

(A) Religion

(B) Mathematics

(C) Sociology

(D) Arts

50. The empiricists adopted which of the

following model as their methods?

(A) Mathematics

(B) Natural Science

(C) Religion

(D) None of the above

46. fdlds fopkj ls nzO; dks ,d fØ;k'khy
'kfDr ds :i esa ifjHkkf"kr fd;k tk ldrk gS\

(A) cdZys

(B) ykbfCuRt

(C) º;we

(D) mijksDr esa ls dksbZ ugha

47. nsdkrZ dk ;g dFku fd ^esjs eu esa ,d iw.kZ
O;fDrRo dk izR;; fo|eku gSa* & fuEu esa ls
fdl rdZ dk vk/kkj okD; gS\

(A) fo'odkj.krkewyd rdZ

(B) izR;;ewyd rdZ

(C) iz;kstuewyd rdZ

(D) uSfrd rdZ

48. fuEu esa ls fdl fof/k dks dk.V us viuk;k Fkk\

(A) vkxeukRed

(B) fuxeukRed

(C) vuqHkoewyd

(D) vuqHkokrhr

49. fuEu esa ls fdl vkn'kZ izk:i dks nsdkrZ us
viuh nk'kZfud fof/k ds fy, viuk;k Fkk\

(A) /keZ

(B) xf.kr

(C) lekt'kkL=

(D) dyk

50. vuqHkooknh nk'kZfudksa us fdls vius nk'kZfud
fof/k dk vkn'kZ ekuk gS\

(A) xf.kr

(B) izkd`frd foKku

(C) /keZ

(D) mijksDr esa ls dksbZ ugha
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51. Who among the following recognises mind

and matter as relative substances which are

created by God?

(A) Kant

(B) Descartes

(C) Hegel

(D) Leibnitz

52. Who believes that there are no innate ideas

in the mind?

(A) Plato

(B) Spinoza

(C) Kant

(D) Locke

53. Who among the following is obsessed with

the intellectual love of God?

(A) Spinoza

(B) Leibnitz

(C) Kant

(D) Descartes

54. Who among the following said, only mind

and their ideas exist?

(A) Hume

(B) Leibnitz

(C) Spinoza

(D) Berkeley

55. Which of the following is the primary aim of

Descartes' philosophy?

(A) To explain the relation between

mind and body

(B) To prove the existence of God

(C) To refute the reality of the external

world

(D) To reach to a clear and distinct

knowledge

51. fuEu esa ls fdlds }kjk tM+ ,oa psru nzO;
dks bZ'oj }kjk l`ftr lkisf{kd nzO;ksa ds :i
esa Lohdkj fd;k x;k gS\
(A) dk.V
(B) nsdkrZ
(C) ghxy
(D) ykbfCuRt

52. fdlds vuqlkj efLr"d esa dksbZ Hkh tUetkr
izR;; ugha gksrk\
(A) IysVks
(B) fLiukst+k
(C) dk.V
(D) ykWd

53. fuEu esa ls fdls bZ'ojksUeÙk nk'kZfud dgk
tkrk gS\
(A) fLiukst+k
(B) ykbfCuRt
(C) dk.V
(D) nsdkrZ

54. fuEu esa ls fdlds vuqlkj dsoy efLr"d ,oa
mlds izR;;ksa dk gh vfLrRo gS\
(A) º;we
(B) ykbfCuRt
(C) fLiukst+k
(D) cdZys

55. fuEu esa ls dkSu lk nsdkrZ ds n'kZu dk
vHkh"V gS\

(A) eu ,oa 'kjhj ds lEcU/k dh O;k[;k
djuk

(B) bZ'oj ds vfLrRo dks fl) djuk

(C) okº; txr dk [k.Mu djuk

(D) lqLi"V ,oa fu%lansg Kku dh izkfIr
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56. Who suggests that idea of substance is a

complex idea?

(A) Spinoza

(B) Berkeley

(C) Hume

(D) Locke

57. On what ground Berkeley rejects Locke's

distinction between primary and secondary

qualities?

(A) All qualities are subjective

(B) Only secondary qualities are

subjective

(C) Qualities are created by God

(D) Qualities inhere in substance

58. Who among the following talks about the

categories of understanding?

(A) Descartes

(B) Hume

(C) Kant

(D) Spinoza

59. According to which philosopher, 'causation

is merely a psychological relation'?

(A) Kant

(B) Berkeley

(C) Hume

(D) None of the above

60. Who rejects self as a substance?

(A) Kant

(B) Descartes

(C) Hume

(D) Spinoza

56. nzO; izR;; dks fdlus fefJr izR;; ekuk gS\

(A) fLiukst+k

(B) cdZys

(C) º;we

(D) ykWd

57. cdZys us fdl vk/kkj ij ykWd }kjk izLrqr
izkFkfed ,oa xkS.k xq.kksa ds Hksn dks vLohdkj
fd;k gS\

(A) lHkh xq.k vkRexr gSa

(B) dsoy xkS.k xq.k vkRexr gSa

(C) xq.k bZ'oj }kjk l̀ftr gSa

(D) xq.k nzO; esa vkRelkr gksrs gSa

58. fuEu esa ls dkSu ckSf)d dksfV;ksa dh ckr
djrk gS\

(A) nsdkrZ

(B) º;we

(C) dk.V

(D) fLiukst+k

59. fdl nk'kZfud ds vuqlkj ^dkj.krk lEcU/k
ek= euksoSKkfud lEcU/k gS*\

(A) dk.V

(B) cdZys

(C) º;we

(D) mijksDr esa ls dksbZ ugha

60. fdlus vkRe nzO; dk [k.Mu fd;k gS\

(A) dk.V

(B) nsdkrZ

(C) º;we

(D) fLiukst+k
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61. Who among the following is known as the

father of modern western philosophy?

(A) Francis Bacon

(B) Hegel

(C) Descartes

(D) Immanual Kant

62. The theory that holds reason as the source

of knowledge is :

(A) Idealism

(B) Rationalism

(C) Empiricism

(D) None of the above

63. Inborn ideas are known as :

(A) Adventitious ideas

(B) Fictitious ideas

(C) Innate ideas

(D) All of the above

64. 'Metaphysics' is the work of :

(A) Socrates

(B) Plato

(C) Aristotle

(D) Thales

65. Who is the author of 'Republic'?

(A) Socrates

(B) Descartes

(C) Plato

(D) Hume

61. fuEu esa ls fdls vk/kqfud ik'pkR; n'kZu ds
tud ds :i esa tkuk tkrk gS\

(A) Ýkafll csdu

(B) ghxsy

(C) nsdkrZ

(D) beSuq,y dk.V

62. fdl fl)kUr ds vuqlkj cqf) gh Kku dk
lk/ku gS\

(A) foKkuokn

(B) cqf)okn

(C) vuqHkookn

(D) mijksDr esa ls dksbZ ugha

63. tUetkr izR;; fuEu esa ls dkSu lk izR;; gS\

(A) bfUnz;izlwr izR;;

(B) dkYifud izR;;

(C) lgt izR;;

(D) mijksDr lHkh

64. ^rÙoehekalk* fdldh d`fr gS\

(A) lqdjkr

(B) IysVks

(C) vjLrw

(D) Fksyhl

65. ^fjifCyd* dk ys[kd fdls dgk tkrk gS\

(A) lqdjkr

(B) nsdkrZ

(C) IysVks

(D) º;we
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66. According to whom, matter is an Abstract

idea?

(A) Hume

(B) Leibnitz

(C) Spinoza

(D) Berkeley

67. Cogito method is adopted by :

(A) Spinoza

(B) Kant

(C) Descartes

(D) Hume

68. Who claims that substance is the aggregate

of qualities?

(A) Hume

(B) Locke

(C) Kant

(D) Hegel

69. Who made the distinction between

impressions and ideas?

(A) Kant

(B) Locke

(C) Hume

(D) Berkeley

70. Who talks about 'Pineal gland' for mind-body

interaction?

(A) Kant

(B) Locke

(C) Berkeley

(D) Descartes

66. fdlds vuqlkj HkkSfrd inkFkZ ,d vewrZ izR;;
gS\

(A) º;we

(B) ykbfCuRt

(C) fLiukstk

(D) cdZys

67. ^lansg fof/k* dks fdlus Lohdkj fd;k gS\

(A) fLiukst+k

(B) dk.V

(C) nsdkrZ

(D) º;we

68. fdlds vuqlkj nzO; xq.kksa dk vkJ; LFky gS\

(A) º;we

(B) ykWd

(C) dk.V

(D) ghxy

69. fdlus laosnu ,oa izR;; ds Hksn dks Li"V
fd;k gS\

(A) dk.V

(B) ykWd

(C) º;we

(D) cdZys

70. eu ,oa 'kjhj ds vUrlZEcU/k gsrq fdlus
^ihfu;y xzafFk* dh ckr dh gS\

(A) dk.V

(B) ykWd

(C) cdZys

(D) nsdkrZ
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71. Who propounded the theory of Pantheism?

(A) Nagarjuna

(B) Leibnitz

(C) Spinoza

(D) Hume

72. Which of the following was propounded by

Leibnitz?

(A) Interactionism

(B) Parallelism

(C) Pre-established harmony

(D) None of the above

73. Which of the following is not the salient

feature of monads according to Leibnitz?

(A) Eternity

(B) Windowlessness

(C) Indivisibility

(D) Immobility

74. Who said - Monads are the 'living mirror of

the universe'?

(A) Descartes

(B) Spinoza

(C) Leibnitz

(D) Hume

75. Who propounded the 'argument from the law

of continuity' for the existence of God?

(A) Spinoza

(B) Leibnitz

(C) Descartes

(D) Kant

71. fuEu esa ls dkSu losZ'ojokn dk izfriknd gS\

(A) ukxktqZu

(B) ykbfCuRt

(C) fLiukst+k

(D) º;we

72. fuEu esa ls dkSu lk fl)kUr ykbfCuRt us
izfrikfnr fd;k gS\

(A) vUrfØZ;kokn

(B) lekukUrjokn

(C) iwoZLFkkfir lkeåtL;

(D) mijksDr esa ls dksbZ ugha

73. ykbfCuRt ds vuqlkj fuEu esa ls dkSu lk
fpr~ fcUnqvksa ¼eksukM½ dk eq[; y{k.k ugha gS\

(A) 'kk'orrk

(B) xok{kghurk

(C) vfoHkkT;rk

(D) vxfr'khyrk

74. fdlds vuqlkj eksukM ¼fpr~fcUnq½ ̂ txr dk
thrk&tkxrk vkbuk* gS\

(A) nsdkrZ

(B) fLiukst+k

(C) ykbfCuRt

(D) º;we

75. fuEu esa ls fdlus bZ'oj dh lÙkk flf) gsrq
^fujUrjrk ds fu;e* ds vk/kkj ij rdZ
izLrqr fd;k gS\
(A) fLiukst+k
(B) ykbfCuRt
(C) nsdkrZ
(D) dk.V



(  18  )PHILOSOPHY/A100201T-D/75

76. Whose rationalism is heightened by

Spinoza?

(A) Hume

(B) Berkeley

(C) Descartes

(D) None of the above

77. Who said 'substance is the product of human

imagination'?

(A) Spinoza

(B) Descartes

(C) Locke

(D) Hume

78. Who among the following is not an empiricist?

(A) Leibnitz

(B) Hume

(C) Locke

(D) Berkeley

79. 'Mind is tabula rasa' - is a statement of :

(A) Spinoza

(B) Locke

(C) Berkeley

(D) Hume

80. According to Locke, colour is a _____ .

(A) Primary Quality

(B) Secondary Quality

(C) Both (A) and (B)

(D) None of these

76. fdlds cqf)okn dks fLiukstk us ifjof/kZr
fd;k gS\

(A) º;we

(B) cdZys

(C) nsdkrZ

(D) mijksDr esa ls dksbZ ugha

77. fdlds vuqlkj] nzO; ekuoh; dYiuk dh
mit gS\

(A) fLiukst+k

(B) nsdkrZ

(C) ykWd

(D) º;we

78. fuEu esa ls dkSu vuqHkooknh nk'kZfud ugha gS\

(A) ykbfCuRt

(B) º;we

(C) ykWd

(D) cdZys

79. ^efLr"d ,d dksjs dkxt+ ds leku gS* & ;g
dFku fdldk gS\

(A) fLiukstk

(B) ykWd

(C) cdZys

(D) º;we

80. ykWd ds vuqlkj jax fuEu esa ls D;k gS\

(A) izkFkfed xq.k

(B) xkS.k xq.k

(C) nksuksa (A) rFkk (B)

(D) buesa ls dksbZ ugha
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81. 'Meditations' is the work of :

(A) Kant

(B) Descartes

(C) Spinoza

(D) None of the above

82. Who propounded the theory of Interactionism

on the problem of mind and body?

(A) Hume

(B) Berkeley

(C) Descartes

(D) Kant

83. Who among the following is not a

representative of rationalism?

(A) Kant

(B) Spinoza

(C) Descartes

(D) All of the above

84. Who introduced the concept of 'cogito ergo

sum'?

(A) Spinoza

(B) Leibnitz

(C) Kant

(D) Descartes

85. According to Descartes, which one of the

following is an absolute substance?

(A) Mind

(B) Soul

(C) God

(D) None of the above

81. ^esfMVs'kUl* dk ys[kd dkSu gS\

(A) dk.V

(B) nsdkrZ

(C) fLiukst+k

(D) mijksDr esa ls dksbZ ugha

82. eu ,oa 'kjhj dh leL;k ij fdlds }kjk
vUrfdZ;kokn fl)kUr izLrqr fd;k x;k\

(A) º;we

(B) cdZys

(C) nsdkrZ

(D) dk.V

83. fuEu esa ls dkSu cqf)okn dk leFkZd ugha gS\

(A) dk.V

(B) fLiukst+k

(C) nsdkrZ

(D) mijksDr lHkh

84. fdlds vuqlkj ̂ eSa lksprk gw¡ vr% eSa gw¡* ,d
vfook| lR; gS\

(A) fLiukstk

(B) ykbfCuRt

(C) dk.V

(D) nsdkrZ

85. nsdkrZ ds vuqlkj fuEu esa ls dkSu lk nzO;
fujis{k nzO; gS\

(A) efLr"d

(B) vkRek

(C) bZ'oj

(D) mijksDr esa ls dksbZ ugha

[P.T.O.]
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86. 'Subjective Idealism' is propounded by

which one of the following?

(A) Kant

(B) Berkeley

(C) Hegel

(D) None of the above

87. The statement - 'esse est percipi' is related

to :

(A) Locke

(B) Berkeley

(C) Descartes

(D) Hume

88. Which one of the following pairs is correct?

(A) Locke - Innatism

(B) Berkeley - Immaterialism

(C) Descartes - Empiricism

(D) Hume - Idealism

89. According to Locke, how many substances

are there?

(A) One

(B) Two

(C) Three

(D) Four

90. Who wrote - 'An Essay Concerning Human

Understanding'?

(A) Spinoza

(B) Descartes

(C) Locke

(D) None of the above

86. ^vkRexr izR;;okn* fuEu esa ls fdlls lEcfUèkr
gS\

(A) dk.V

(B) cdZys

(C) ghxy

(D) mijksDr esa ls dksbZ ugha

87. ^ǹ';rk gh lÙkk gS *& ;g dFku fdlls lEcfUèkr
gS\

(A) ykWd

(B) cdZys

(C) nsdkrZ

(D) º;we

88. fuEu esa ls dkSu lk ;qXe lgh gS\

(A) ykWd & lgtokn

(B) cdZys & vHkkSfrdokn

(C) nsdkrZ & vuqHkookn

(D) º;we & foKkuokn

89. ykWd ds vuqlkj nzO;ksa ds fdrus izdkj gSa\

(A) ,d

(B) nks

(C) rhu

(D) pkj

90. ^,su ,Lls dulfuZax º;we vUMjLVSafMax* ds
jpf;rk dkSu gSa\

(A) fLiukstk

(B) nsdkrZ

(C) ykWd

(D) mijksDr esa ls dksbZ ugha
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91. According to Descartes, the idea of God

is :

(A) Finite

(B) Fictitious

(C) Innate

(D) None of the above

92. Who introduced the term 'Natura Naturata'?

(A) Spinoza

(B) Leibnitz

(C) Kant

(D) Descartes

93. Who propounded the theory of 'Parallelism'?

(A) Hegel

(B) Spinoza

(C) Kant

(D) Leibnitz

94. Who among the following is a monist?

(A) Descartes

(B) Spinoza

(C) Leibnitz

(D) Hume

95. Which of the following pairs is incorrect?

(A) Descartes - Pluralist

(B) Leibnitz - Dualist

(C) Hume - Rationalist

(D) All of the above

91. nsdkrZ ds vuqlkj] bZ'oj izR;; fuEu esa ls
D;k gS\

(A) lhfer izR;;

(B) dkYifud izR;;

(C) tUetkr izR;;

(D) mijksDr esa ls dksbZ ugha

92. fuEu esa ls fdl nk'kZfud us ̂ uspqjk uspqjkVk*
in dks izLrqr fd;k gS\

(A) fLiukst+k

(B) ykbfCuRt

(C) dk.V

(D) nsdkrZ

93. fuEu esa ls fdl nk'kZfud us ̂ lekukUrjokn*
dks izLrqr fd;k gS\

(A) ghxy

(B) fLiukst+k

(C) dk.V

(D) ykbfCuRt

94. fuEu esa ls dkSu ,drÙooknh nk'kZfud gS\

(A) nsdkrZ

(B) fLiukst+k

(C) ykbfCuRt

(D) º;we

95. fuEu esa ls dkSu lk ;qXe xyr gS\

(A) nsdkrZ & cgqrÙooknh

(B) ykbfCuRt & }Sroknh

(C) º;we & cqf)oknh

(D) mijksDr lHkh

[P.T.O.]
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96. According to which of the following, all the

ideas related to knowledge are innate?

(A) Descartes

(B) Spinoza

(C) Leibnitz

(D) Locke

97. As an empiricist thinker, Locke claims that

all our knowledge is derived either through

sensation or ____ .

(A) Perception

(B) Reflection

(C) Thinking

(D) None of the above

98. Who among the following is a French

philosopher?

(A) Kant

(B) Descartes

(C) Plato

(D) Aristotle

99. 'Monadology' is the work of :

(A) Kant

(B) Descartes

(C) Leibnitz

(D) Hegel

100. Which of the following is not the work of Kant?

(A) Critique of Pure Reason

(B) Critique of Practical Reason

(C) Meditations

(D) None of the above

96. fdlds vuqlkj Kku ls lEcfU/kr lHkh izR;;
tUetkr izR;; gksrs gSa\

(A) nsdkrZ

(B) fLiukst+k

(C) ykbfCuRt

(D) ykWd

97. vuqHkooknh fopkjd ykWd ds vuqlkj gekjs
lkjs Kku ;k rks laosnuk ls vFkok fuEu esa ls
fdlls izkIr gksrs gSa\

(A) izR;{k

(B) fpUru

(C) fopkj

(D) mijksDr esa ls dksbZ ugha

98. fuEu esa ls dkSu Ýkalhlh nk'kZfud gS\

(A) dk.V

(B) nsdkrZ

(C) IysVks

(D) vjLrw

99. fpn.kqokn fuEu esa ls fdldk fl)kUr gS\

(A) dk.V

(B) nsdkrZ

(C) ykbfCuRt

(D) ghxy

100. fuEu esa ls dkSu lk xzUFk dk.V }kjk jfpr
ugha gS\
(A) 'kq) cqf) dh vkykspuk
(B) O;kogkfjd cqf) dh vkykspuk
(C) euu
(D) mijksDr esa ls dksbZ ugha
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iz'u 3

4. izR;sd iz'u ds vad leku gSaA vkids ftrus mÙkj
lgh gksaxs] mUgha ds vuqlkj vad iznku fd;s tk;saxsA

5. lHkh mÙkj dsoy vks0,e0vkj0 mÙkj&i=d
(OMR Answer Sheet) ij gh fn;s tkus gSaA
mÙkj&i=d esa fu/kkZfjr LFkku ds vykok vU;=
dgha ij fn;k x;k mÙkj ekU; ugha gksxkA

6. vks0,e0vkj0 mÙkj&i=d (OMR Answer

Sheet) ij dqN Hkh fy[kus ls iwoZ mlesa fn;s x;s
lHkh vuqns'kksa dks lko/kkuhiwoZd i<+ fy;k tk;sA

7. ijh{kk lekfIr ds mijkUr ijh{kkFkhZ d{k fujh{kd
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ds ckn gh ijh{kk d{k ls izLFkku djsaA ijh{kkFkhZ

vius lkFk iz'u&iqfLrdk ys tk ldrs gSaA

8. fuxsfVo ekfdZax ugha gSA

9. dksbZ Hkh jQ dk;Z] iz'u&iqfLrdk esa] jQ&dk;Z ds
fy, fn, [kkyh ist ij gh fd;k tkuk pkfg,A

10. ijh{kk&d{k esa ykWx&cqd] dSYdqysVj] istj rFkk lsY;qyj
Qksu ys tkuk rFkk mldk mi;ksx djuk oftZr gSA

11. iz'u ds fgUnh ,oa vaxzsth :ikUrj.k esa fHkUurk gksus

dh n'kk esa iz'u dk vaxzsth :ikUrj.k gh ekU;

gksxkA
egRoiw.kZ% iz'uiqfLrdk [kksyus ij izFker% tk¡p dj
ns[k ysa fd iz'uiqfLrdk ds lHkh i`"B HkyhHkk¡fr Nis
gq, gS aA ;fn iz'uiqfLrdk es a dk sb Z deh gk s] rk s
d{kfujh{kd dk s fn[kkdj mlh fljht dh nwljh
iz'uiqfLrdk izkIr dj ys aA
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